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Example 1 (cont.)
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Example 1 (cont.)

2= CIERI( i3 E)
IBM ILOG CPLEX

> B *f‘ﬂf‘:lvﬁi

MIN  { osx(Lwi) + 5(fLw2) + 4(f2,w1) + 25(f2,w2) + 3xwL.cl)
+ 4*x(wl,c2) + 5%(wl,c3) + 2%(w2,cl) + 1*%(w2,c2) + 2’x(w2,c:3)}

> K?l\%lj ;\4
x(f2,wl) +x(f2,w2) < 60’000
x(f1,wl) +x(f2,wl) =x(wl,cl) +x(w1l,c2) +x(wl,c3)
X(f1,w2) +x(f2,w2) =x(w2,cl) +x(w2,c2) +x(w2,c3)
x(wl,cl) +x(w2,cl) = 50’000
x(wl,c2) +x(w2,c2) = 100'000
x(wl,c3) +x(w2,c3) = 50’000
x(f1,wl), x(f1,w2), ...,x(w2,c2),x(w2,c3)> 0
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> 31173 A5 1'120'000

> 32 -173 = A5 920000

> 3 E3(B i e 2) @ P2 & 5 740000

> RT L R A b A TR MR A A510%001 2 24%

> BB A2 AriE P en i & i# f2(optimal
solution) -

R R e -t




"
Example 2
R 4ERE]

s - BT F 1R ed ARG o
© v R B pddp ARG o



Example 2 (cont.)




Co k- R Rt

N ﬁ-f,]b'\ ‘

m T ERERL O B E o

O ”;i’r't—'vu‘*];[‘j:,? ggi;i;fﬁf(iﬁp
L ’#i?f#’-%‘lﬁﬂ_—’ﬁﬁflj”’,i—“‘ m?"
B L R e i
A FE o By
m R e BT R

(0]

”-J’/r
Af R et
’

= o



" N

Example 2: #% f%i+ ;%OPK@;T, > F R

IR &
Wikihfz
B E & S
58 Rk AR
HE R, B
BT R A, %2 ]
Rk R 5
& AN, B

ik R
ERE
40 B AF

FREE A AN, B ]

R R, t g

[’ 5] & &

& RE TR

E 8 R A

BT
BRI R
HuETHEER
v=3 AP
AR, BRI S

SCMP
AT ER I 6P

ERF |
BaAEE kR
ASEME

TERH, BE




"

Example 2: # & f%;4- OPK(%?J

SCMP
B8 4k 2 IR 2] 67

iR &
B A &R
ik E St
TEREEH
FRSAZAS B oM

TREKELH
RYHFREEH

B E B Ry B E




" S
% 24> 5O0PKerig gk

i dfs¢ it k(modeling technique)
Bk 222 0V RpF BEEAETEFMED
P R ELAWAEAFDHRE o

w1 ﬁ'*ﬁ‘ﬁfﬁiiﬁ'i e RR o

FOURRAEB R R A G A E TR SR o
sRRuAagl/ i R e g A



" B
Example 3
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Example 3 (cont.)
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Ready date |Due date |HvEl
Order 1 |3/1 3/30 3000
Order 2 |3/11 3/30 3000
Order 3 |3/21 3/30 3000
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Example 5 (cont.)
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Example 5 (cont.)

> TOYOTAE * 2 g2 & & 5e(JIT)r "% K33 b o

> DELLA|* ®= 4 #-5¢ (direct business model) %
MR RN A B R A
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A, B & hgo] (b

)

# b = 2 (inventory costs) -
% b = 7 (backorder costs) -
2k ¥ = A~ (setup costs)

77 b = 7 (ordering costs) -
4 A& = & (production costs) -
} pE = A (purchase costs) -
Ja L = A& (material costs)
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m (Modeling the Supply Chain, by Jeremy F.

Shapiro)
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Harris & s = %

m1992# 7 P 2N Ao

mFikia- xE£{ #70 @ * [BM RS-6000 Model
5601 fFxk » & S F Q] BF o

m 993 & 78 e pFid 2 FH 2 1(95% o

T p A SRR 5000/ 5 2 1004 -

A (profit) 4 R » 1993 % 320008 £ £ > 1994

£330008 % £ > 1995=%$42008 % £ -
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